Jlorapudgmuyeckue HepaBeHCTBA € X B OCHOBaHMHU (0€3 panMoHAJIH3AUAN)
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15 Penrute HepaBeHCTBO
logy (15x — 18 — 2x?) < 2
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PermmTe HEPABEHCTBO
logf s (x + D* + log, (x + 1)? < 22

Pemmre HepaBeHCTBO
logfyx? + log, x* < 8
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Pemure HEPABCHCTBO
log,(loge(3* —9)) < 1
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Pernre HepaBeHCTBO
—2logx 27 = log3 27x + 1
3

Pelure HepaBeHCTBO
log,, 0,25 < log, 32x — 1

Pewure nepaBeHcTBo
(4x —7) -log,2_45:5(3x—=5) =0
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Pemure HEPABCHCTBO
(4x + 13) - 108,24 65410(3x + 10) = 0

Pewure HEPABCHCTBO
— 3)2
logy 2402 = 3)%  log,t41 g 137 S —2
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